[ Efficiency vs vertpos |

< 0.1
20.09
4
20.08
(8]
§0.07
(&)
£0.06
0.05
0.04
0.03
0.02
0.0

T IIII!IJ—I—I.!-I-!'-I-!.I—I—I—I!ILII!IIII!IIII!IIII!IIIIIIIII

1.0

Ratio

0.95L : :
1072 10 1

10 0?
TP vertr (cr%)

—=— DQM_V000L_R000000001__Global__CMSSW_orig
Efficiend —— pom_v0001_R000000001__Global__CMSSW_allchi2

~n 0.2
LT R R R 1|
%] C . . . . .
Z0.16------ AR st
> . . . . .

2 E : : : : :

o S S 11

(8] L . . . . .

e b ST T || R

o E : : : : :
R /| RS
008:— """" I """"
T 1|
00af- gl

0.02F - *Hﬂ##H

Ve TP P PP

Ratio

H
T

30 -20 -10 O 10 20 30
TP vert z (cm)

0.95!

[ Efficiency vs. sim PV z |
~n 0.2

> F : :
B O.18Ffrreeiereeedeeeee RN
£ E : :
:/_)016:_ """'""""E """" :' """""
L0.14F |- R
P = : :
X0 T ] = PR SO R bl
) E : :
[} o . H
Rt St S
() r H .
0.08F}----5-mnev G P
0.0BF |-k
0.04F ++ -------- P
0.02F +---++$;+++f+}+---
P SN il I I B /PP AL
o +Bf :
@ r :
m r . .
%™ 5 0 5 10 15 20

Sim. PV z (cm)



	Contents
	Page 1


